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goooobboond

In C:

void foo (int x, int y) {
return x + y;

}
InOCaml: (2000000000)

let foo (x,y) = x + y in
foo (10,5)
==> 15

let fooxy =x + y in
foo 10 5
==> 15
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goooobboond

1.0(00o0)0oo0o0ooooo10D000o0o
let foo (x,y) = x + 7y ;;

(10,5 0 1000DO

2. 000000D0O

let fooxy=x+17y ;;

foo 100 100003

(foo 10) 50000010000

O00O0Ofoo 10 500000000 OO0OODOOOOOODOODODO
000000 oooon)
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oooooboon

00000 (D000oooo0)boo0o0o0o0oooooooooo
e 000U (ecurrying): 00O ODODDOODODODOOOOOOODO
e JOOOO (uncurrying): OOODODOOODOOODOOOOOOO

let fooxy =x + vy;;
==> val foo : int -> int -> int = <fun>

foo 10;;

==> - : int -> int = <fun>
(foo 10) 5;;

==> - : int = 15

e 00 fooOOOO(int * int) —> int 00O O0OOO
int -> (int -> int) OO0 0O0O

@ [ int -> (int -> int) OO0 int -> int —> int0 0000
O0@E0 ->00000000000000000O00DO0O0O0O0O)
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goooobbooogad

uboooboooboobobooobooobooo

let fooxyz=x+y + z in
(foo 1 2 3) * (foo 5 6 7)

O0o0o000o0o0ooOooooOoooo (Do)o

let foo’ =
fun x -> fun y > fun z > x +y + z in
(foo 1 2 3) * (foo 5 6 7)

gbbooobuoobboobuoobbooboobbod

let fooxyz=x+y + z;;
(foo 1 2) ;; «00000; DOoOoOg =)
(foo 1 2) * (foo 56 7) ;; (xO0O0O0O =)

000D (DO0OD 0DO0O000) 0ooooooo 0oooooooo



gooooboon

ubbooobooboboobobooboobbuooboobobodoboo
e DU DOOIDODOODODOOOODODODODODO
o OUOIDOODDODO

let add x y = x + y in
let £ = add 10 in
(f 5) x (£ 20) * (f 6)

e 0O DOUOUDLOUODLDLOODLUODLLOLODLOOLOOn
(problem)

problemO00 0000 (DOOOODOOOOOODO):
e JJIUUUDDDDOODDUU(DODDDOODODO)ODOOOO

O000000000000000(e.g. OCamlODOOOODOO 10
000 Zinc Abstract MachineD DO OODO S80000000OO)
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